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v=__ 0126  m%/m RFE—IR)
HEIHEAE &
L= 108.25 m
i E Uy
V= 0.126 X 108.25 m® 13.64
2. AR A =
JEEIR A AR
= 130.00 %
TE: E R (A) WE T
KL ARAKAE
UL AR E AN
= 13.64 X 130.00 /100 = 17.73[ m® 17.73
= 0.126 X 130.00 /100 = 0.164|m”/m 0.164
3. A&
=(13.64 + 1773 )X 0.90 m® 28.23
PE1-5
PRI B (1m*4Y)
A 0.164 X 9.32 X 10 + 1,000 t/m 0.015
pisim 0.164 X 559 X 10 <+ 1,000 t/m 0.009
1Bt 0.164 X 2069 X 10 0/m 33.9
15K 0.164 X 7335 X 10 0/m 120.3
(1100140 ¥ &)




¥ & F " &
No.
& B ) 5N il g
1. RHl L EOFHE <No. 3 & ~ No. 2 EIE>
HEEE T m 24 D J 1 AA
v=__ 0126  m%/m RFE—IR)
HEIHEAE &
L= 98.25 m
i E Uy
V= 0.126 X 98.25 m® 12.38
2. AR A =
JEEIR A AR
= 130.00 %
TE: Fwt(A) AhEE+
KL ARAKAE
UL AR E AN
= 12.38 X 130.00 /100 = 16.09] m® 16.09
= 0.126 X 130.00 /100 = 0.164|m”/m 0.164
3. A&
=(12.38 +  16.09 )X 0.90 m® 25.62
PE1-5
PRI B (1m*4Y)
A 0.164 X 754 X 10 + 1,000 t/m 0.012
pisim 0.164 X 471 X 10 <+ 1,000 t/m 0.008
1Bt 0.164 X 2092 X 10 0/m 34.3
15K 0.164 X 7418 X 10 0/m 121.7
(1100140 ¥ &)




¥ & F " &
No.
& B ) 5N il g
1. RHl L EOFHE <No. 3 & ~ No. 4 FE>
HEEE T m 24 D J 1 AA
v=__ 0126  m%/m RFE—IR)
HEIHEAE &
L= 128.25 m
i E Uy
V= 0.126 X 128.25 m® 16.16
2. AR A =
JEEIR A AR
= 130.00 %
TE: Fwt(A) AhEE+
KL ARAKAE
UL AR E AN
= 16.16 X 130.00 /100 = 21.01] m® 21.01
= 0.126 X 130.00 /100 = 0.164|m”/m 0.164
3. A&
=(16.16 + 2101 )X 0.90 m® 33.45
PE1-5
PRI B (1m*4Y)
A 0.164 X 754 X 10 + 1,000 t/m 0.012
pisim 0.164 X 471 X 10 <+ 1,000 t/m 0.008
1Bt 0.164 X 2092 X 10 0/m 34.3
15K 0.164 X 7418 X 10 0/m 121.7
(1100140 ¥ &)




¥ & F " &
No.
& B ) 5N il g
1. RHl L EOFHE <No. 5 & ~ No. 4 EIE>
HEEE T m 24 D J 1 AA
v=__ 0126  m%/m RFE—IR)
HEIHEAE &
L= 128.25 m
i E Uy
V= 0.126 X 128.25 m® 16.16
2. AR A =
JEEIR A AR
= 130.00 %
TE: Fwt(A) AhEE+
KL ARAKAE
UL AR E AN
= 16.16 X 130.00 /100 = 21.01] m® 21.01
= 0.126 X 130.00 /100 = 0.164|m”/m 0.164
3. A&
=(16.16 + 2101 )X 0.90 m® 33.45
PE1-5
PRI B (1m*4Y)
A 0.164 X 754 X 10 + 1,000 t/m 0.012
pisim 0.164 X 471 X 10 <+ 1,000 t/m 0.008
1Bt 0.164 X 2092 X 10 0/m 34.3
15K 0.164 X 7418 X 10 0/m 121.7
(1100140 ¥ &)




¥ & F " &
No.
& B ) 5N il g
1. RHl L EOFHE <No. 14 % ~ No. 3 EIE>
HEEE T m 24 D J 1 AA
v=__ 0.131 m’/m _ (2—F%)
HEIHEAE &
L= 83.00 m
i E Uy
V= 0.131 X 83.00 m® 10.87
2. AR A =
JEEIR A AR
= 130.00 %
TE: E L (B) WE T
KL ARAKAE
UL AR E AN
= 10.87 X 130.00 /100 = 14.13[ m® 14.13
= 0.131 X 130.00 /100 = 0.17|m%/m 0.170
3. A&
=(10.87 + 1413 )X 0.90 m® 22.50
PE1-5
PRI B (1m*4Y)
A 0.170 X 9.32 X 10 + 1,000 t/m 0.016
pisim 0.170 X 559 X 10 <+ 1,000 t/m 0.010
1Bt 0.170 X 20.69 X 10 0/m 35.2
15K 0.170 X 7335 X 10 0/m 124.7
(1100140 ¥ &)




¥ & F " &
No.
& B ) 5N il g
1. RHl L EOFHE <No. 14 H ~ No. 15 EF|E>
HEEE T m 24 D J 1 AA
v=__ 0.131 m’/m _ (2—F%)
HEIHEAE &
L= 63.25_m
i E Uy
V= 0.131 X 63.25 m® 8.29
2. AR A =
JEEIR A AR
= 130.00 %
TE: E L (B) WE T
KL ARAKAE
UL AR E AN
= 8.29 X 130.00 /100 = 10.78] m® 10.78
= 0.131 X 130.00 /100 = 0.17|m%/m 0.170
3. A&
=(8.29 + 10.78 )X 0.90 m® 17.16
PE1-5
PRI B (1m*4Y)
A 0.170 X 9.32 X 10 + 1,000 t/m 0.016
pisim 0.170 X 559 X 10 <+ 1,000 t/m 0.010
1Bt 0.170 X 20.69 X 10 0/m 35.2
15K 0.170 X 7335 X 10 0/m 124.7
(1100140 ¥ &)




1B AAHER— 1
I & Al G| Al A o OB = fis
1S AT 1BAREET JAy AT 3.0mH=4.0m  &FR
" 6. 0OmH=7.0m  ®&Fr
" 7.0m<H=8.0m  ®&Fkr
" 8.0mH=9.0m  ®&Fkr
EWRIJRvy
¥ 17&8 H=130 &
o H=130 &
EHmMAEIOYY ¢$900
178 H=600 &
$ 900
H=900 &
$ 900
H=1200 &
$ 900
H=1500 &
$ 900
H=1800 &
$ 900
H=2400 &
EWmMAEIOYY 900
o H=600 &
$ 900
H=900 &
$ 900
H=1200 &
$ 900
H=1500 &
¢ 900
H=1800 &
$ 900
H=2400 &




I & fE Al B Al 550 ¥ B = i
EEJOvY  ¢900
1S#II AT # # 178 H=600 1@
@900
H=900 1@
@900
H=1200 1@ 3
@900
H=1500 1@ 11
@900
H=1800 1@
@900
H=2100 1@
EEJOvY  ¢900
I H=600 1@
@900
H=900 1@
@900
H=1200 1@
® 900
H=1500 1@ 2
@900
H=1800 1@
®900
H=2100 1@
¢ 900-600
#EJOvs  H=300 1@
@ 900-600
H=450 1@ 3
@ 900-600
H=600 1@ 3
@ 600
FEY VT HH0 1@ 8
@ 600
H100 1@ 1
SRAEEILAIL mm 172
XRAEEWMDIHEE H=25(~25mm) 1@ 1
H=45 (~50mm) & 5
ERUEZH (T-14) 1@ 2
(T-25) 1@ 4
h 39 k-
LR AR {& 6




I & & Al ot Al #H % Hf # = " &
178 1
15#I A7 RAEHITL HHEE HP ¢ 250 & 5 I 4
EEETRS PRP ¢ 200 & 1
[Elii
A& S#MF HEE HP ¢ 250 & 1
EEETRS PRP ¢ 200 & 1
=15 & i) FRP&! 2 4 E| PR & 8 7
YURE #H
2.118 21k
124037 A7 EET B O m?2 0.353 &R
1.032 %14k
avhy—k  18-8-40 m3 0.172 @&
4.584 2k
ELAI t=2cm 1:2 m?2 0.764 &R
ST} avhy—k  18-8-40 m3 3.070
No. 1 0. 275%2. 058% 1 /4= 0. 915
No. 2 0. 055%1. 566% 1 /4= 0. 106
No. 4 0. 055%1. 5662 77 /4= 0. 106
No. 5 0. 275%2. 058% 1 /4= 0. 915
No. 14 0. 275%2. 066% 7 /4= 0. 922
No. 15 0. 055%1. 566% 1 /4= 0. 106




15403 A FL (R1E9I0cm A #2)

1547 0vy e
& ERAE E & B = i S| EERO L S | e r| B
E F MYy HAEHIA | G [/ —hT] S5
e Hte |k 900 _ _ !
ERES )\% AR | BItE [AES st $900 ¢ 900 ~$ 600 T-14 | T-25 wE
R |60 [ 90 [120] 150 180 240| 60 | 90 [ 120] 150] 180 30 | 45 | 60 51110 15 11 11 | HP|PRP HP |PRP j‘j_ 7%5 % 2 g
cm|cm|cm|cem|cm|cem|cm|cm|cm|cecm|cm|cecm|cm|cm|cm|cm|cm|cm|cm|cm|cm|cm| cm cm [250(200 250(200| @ [ |m | & | &
m m BlIE A B A A @A @ A @B @ @ @ @ @ @ @[ @ @ @[ @|@) 8 4 #0 | min| e m| e e s e s ) $8 | 48
3 1o Nn—ra|
16-1c 1 8.288 8.458 1 1 1 1 1 1 1 2 1 2 0.170m
3 1oNn—tE
16-1c 2 8.017 8.187 1 1 1 1 2 1 1 2 1 2 0.170m
.12 AoR—+5
3-b-2 4 7.319 7.489 1 1 1 1 1 1 1 2 1 2 0.170m
1.l.2 AoN—r5
3-b-2 5 6.591 6.761 1 1 1 1 1 1 2 1 1 0.170m
1 1 1 {oN—F8
16-15a-1| 14 3.628 3.798 1 1 1 1 2 1 0.170m
e 1 1 1 Ao IN—FE
16-152=11 45 | 3519 | 3389 1 2 1 1 EERE 0.170m
16-15a-2

&5t 37.062




ISHITAARKBIHEE (1 #HHEY)

EXO0OBRWEHL I EER - fib
RABER: dl = 0.250 m ANALEZE:  h= 0.020 m
RHEERE: d2 = 0.250 m 1IN -NE :  tl= 0.170 m
EHEE: d-= 0.250 m EHN-VE : t2= 0.305m
AfFLATE: D= 0.900 m : t3= m
HEENEZE: D= 1.100 m
ERRBIA :  D2= m NEHIN -NE=t1+ (BR+EE) /2

I T I

% b7 " = B | & 2
B OB 1/2% 7t xd*D=1/2% 7t *0. 250%0. 900 m?2 0.353
a9 1) — b |t /4xD"2%t3— 7t /4%d” 2%1/2%D+ 7t /4%D2" 2% t 3

=7t /4%0. 900" 2%0. 305— 7t /4*0. 250" 2+1/2*0. 900
+ 70 /4%0. 000" 2%0. 000 m3 0.172
ELZIVEE [ /4xD"2-d*D+ (B #E)
=7 /4%0. 900°2-0. 250%0. 900+0. 353 m2 0.764




25 M ANFLBESR — 1
I & 1 Al # Al A o B = fis
285483 AT 2BANFLERET JOyJEMI H=6.0m =170
" 6. 0OmH=7.0m  ®&Fr
" 7.0m<H=8.0m  ®&Fkr
" 8.0mH=9.0m  ®&Fkr
EWRIJRvy
> 178 H=150 &
o H=150 &
EmMAEIOYY 1200
178 H=600 &
¢ 1200
H=900 &
¢ 1200
H=1200 &
¢ 1200
H=1500 &
¢ 1200
H=1800 &
@ 1200
H=2400 &
EmMAEIOYY 1200
o H=600 &
@ 1200
H=900 &
@ 1200
H=1200 &
@ 1200
H=1500 &
¢ 1200
H=1800 &
@ 1200
H=2400 &




I & & Al b Al 550 o OB = fis
EEJOvY ¢ 1200
254 AT # # 17&8 H=600 &
¢ 1200
H=900 &
@ 1200
H=1200 &
¢ 1200
H=1500 &
¢ 1200
H=1800 &
¢ 1200
H=2100 &
EEJOvY ¢ 1200
o7& H=600 &
¢ 1200
H=900 &
¢ 1200
H=1200 &
¢ 1200
H=1500 &
¢ 1200
H=1800 &
@ 1200
H=2100 &
¢ 1200-600
fFMEJOvS  H=300 &
¢ 1200-600
H=450 &
¢ 1200-600
H=600 &
¢ 600
Y > H=50 1@
¢ 600
H100 &
RABEILZIL mm
KEEMDIZE H=25 (~25mm) &
H=45 (~50mm) &
ERUVUZ® (T-14) &
(T-25) &
b 3908 k-
LAy &




I & & Al ot Al #H % Hf # = " &
178 1
25T AFL TRAEHIFL HHEE HP ¢ 250 & 2 OfE 1
RS PRP ¢ 200 BT
[Elii
A& S#MF HEE HP ¢ 250 & 3
RS PRP ¢ 200 BT
RS T FRP&! 2 4 E| PR & 8 1
YURE 8 1
0.471 £k
25437 AL EET B B m?2 0.471 /T
0.372 £k
avyy—k  18-8-40 m3 0.372 &R
1.302 %4k
ELAI t=2cm 1:2 m?2 1.302 &R
By} avhy—k  18-8-40 m3 0. 682
No. 3 0. 205%2. 058% 77 /4= 0. 682




2548 NFL (R1E120emA#2)

_ 2847 aYY . . = (B i
& LSk L # 2 WLy RAEMA | DS |—ra]
i 7
AHZE | BIE |BES 900 900 ¢o00 T-14 | T-25
smge| 40| M | BUE EE g ¢ ¢ “pa0 e
R |60 | 90 [120] 150 180 240| 60 | 90 [ 120] 150] 180 30 | 45 | 60 51110 15 1 11 | HP|PRP HP PRPj‘j_ 7%5 % 2 g
cm|cm|cm|cem|cm|cem|cm|cm|cm|cecm|cm|cecm|cm|cm|cm|cm|cm|cm|cm|cm|cm|cm| cm cm [250(200 250(200| @ [ |m | & | &
m m BlIE A B A A @A @ A @B @ @ @ @ @ @ @[ @ @ @[ @|@) 8 4 #0 | min| e m| e e s e s ) $8 | 48
2 1o N—rg|
1

16-1c
3-b-2 3 7.647 7.867
16—-15a-1

1 1 1 2 1 2 3 1 111 0.220m

&5t 7.647




25T ANFLERMTIHESE (1 45k Y)

EXO0OBRWEHL I EER - fib
RABER: dl = 0.250 m ANALEZE:  h= 0.020 m
RHEERE: d2 = 0.250 m 1IN -NE :  tl= 0.220 m
EHEE: d-= 0.250 m EHN-VE : t2= 0.355m
AfFLATE: D= 1.200 m : t3= m
HEENEZE: D= 1.450 m
ERRBIA :  D2= m NEHIN -NE=t1+ (BR+EE) /2

o
H >~
\@/ -,
I [
-—

% b7 " = B | & 2
B OB 1/2% 7t xd*D=1/2% 7t *0. 250%1. 200 m?2 0.471
a9 1) — b |t /4xD"2%t3— 7t /4%d” 2%1/2%D+ 7t /4%D2" 2% t 3

=7t /4%1.20072%0. 355— 7t /4*0. 250" 2+1/2*1. 200
+ 70 /4%0. 000" 2%0. 000 m3 0.372
ELZIVEE [ /4xD"2-d*D+ (B #E)
=7 /4%1.200°2-0. 250%1. 200+0. 471 m2 1. 302




R AAMER— 1

T i i Al i Al b5 % B4 % E ® &
ERHF R A L MAEHIFL HEE HP ¢ 250 B AT 1
RHHEIE PRP ¢ 200 R
[l
A& SHMF HEE HP ¢ 250 AT 1
RHHEIE PRP ¢ 200 R
PERS T FRP&E 2 5 & YR #
YIRE #
0.613 24k
EEHF AN L BT O S m?2 0.613 AR
0.998 &k
a2 o )—+bF  18-8-40 m3 0.998 #&FR
2.178 £k
ELEIL t=2cm 1:2 m2 2.118| &Pk
FAEIY)-b arvyy—hF 18-8-40 m3




BE4FIR AN FL (NE240cm A #2)

284 T7aYY e
& ERAE % @ R e i | EERO mE5 |
= : ALY HAGHIT | o [ b
w FFE | cE ] ¢ 900 i
EHES }\% ARZFE | BlifEE |EE sk ¢ 900 ¢ 900 5600 T-14 | T-25
R |60 | 90 [120] 150 180 240| 60 | 90 [ 120] 150] 180 30 | 45 | 60 51110 15 1 11 | HP|PRP HP |PRP 7‘3_ 7%5 %
cm|cm|cm|cm|cm|cm|em|cem|cm|cm|cm|cm|cm|cecm|cm|cm|cm|cecm|cm|cm|cecm|cem| cm cm [250(200 2501200 @ [ @ | @
m m BlIE A B A A @A @ A @B @ @ @ @ @ @ @[ @ @ @[ @|@) 8 4 #B | min| e | | s s e s s
16-1c M8 8.505

&5t 8.505




BEHEAALERMIGESE (1 4BEkY)

EXoBMELLIZBEER -
RAERER: dl = 0.250 m ANFLEE - h= 0.200 m
RHEERE: d2 = 0.400 m 1IN -NE :  tl= 0.200 m
EHEE: d-= 0.325m EHLN -MNE 2 t2= 0.463 m
AARAZE D= 2.400 m : t3= m
HEENEZE: D= 3.000 m
[ERREAO :  D2= m NEHIN -MNE=t1+ (BERHEE) /2

XA -NZDWTIH, FHDBTHEEE T L-OHEE1/2ET B,

d/?

13

£ b4 = = i | & 2
B B 1/2% g0 *d*Dx1/2=1/2% 7t *0. 325%2. 400%1/2 m?2 0.613
a % )— bk | (t/4+%D"2xt3— 7t /4%d"2x%1/2%D+ 7t /4%D2" 2% t 3) *1/2

= (7 /4%2. 400 2x0. 463— 7t /4%0. 325" 2%1/2%2. 400
+7t /4%0. 000" 2x0. 000) *1/2 m3 0.998
EILZILEZE | (5 /4xD"2-dxD+ (BU#y) ) *1/2
=(7 /4%2. 400"2-0. 325%2. 400+0. 613) *1/2 m2 2.178




Bl & M B x
(HP ¢ 250 : #EHERE — ¢ 200
_ S
P A B NLEE - 7 Vv b B 90/ Hh i PRI -k T [EE S R _—
HIPRET (H) b 200 6 200 250-200 6 200/
No. m i m 18 14 14 1 {E] i

16-15a-1 No. 3 3.568 | 0.760 1 1 3
3.568 | 0.760 1 1 3




EHREAL —EEAN—TIE BHEFR 2By HEEHER
HIFLE L0(m) LhgIER| AR [ TEAALK A (m) TENE (PN VA 720 fi LR (min) R0 T AR

A A [ S e I i o i L.2(m) (m2) n(R) | WEEL | WL | k| —WA/A) | “RUA) | Qs(1/A) Vikl) Tl T2 T3 T4 Ts N (K/H) IERES

M8 % i 0.000 | 2.700 | 6.660 | 9.360 6.500 4.720 5 0.000 | 1.000 | 1.860 | 2.860 337 464 801 4,005 Rl
No.1 F&itE T 0.000 | 2.700 | 6.640 | 9.340 6.480 10.620 11 0.000 | 1.000 | 1.860 | 2.860 347 478 825 9,075 il
No.1 Fitk =t 0.000 | 2.700 | 6.580 | 9.280 6.420 10.620 11 0.000 | 1.000 | 1.860 | 2.860 347 478 825 9,075 BTl
No.2 F# T 0.600 | 2.950 | 5.520 | 9.070 6.210 4.720 5 0.000 | 1.050 | 1.810 | 2.860 372 505 877 4,385 Rl
No.2 Fi# i 0.600 | 2.950 | 5.420 | 8.970 6.110 4.720 5 0.000 | 1.050 | 1.810 | 2.860 372 505 877 4,385 Rl
No.3 F&itk T 0.000 | 1.750 | 6.950 | 8.700 5.840 10.620 11 0.000 | 0.000 | 2.860 | 2.860 388 388 776 8,536 i Tl
No.3 Fitk =t 0.000 | 1.750 | 6.930 | 8.680 5.820 10.620 11 0.000 | 0.000 | 2.860 | 2.860 388 388 776 8,536 Rl
No.3 Fii# i 0.000 | 1.250 | 3.880 | 5.130 2.270 4.720 5 0.000 | 1.250 | 1.610 | 2.860 331 570 901 4,505 Rl
No.4 F# T 0.590 | 1.900 | 5.880 | 8.370 5.510 4.720 5 0.000 | 0.130 | 2.730 | 2.860 376 393 769 3,845 Rl
No.4 F# Ei 0.590 | 1.900 | 5.780 | 8.270 5.410 4.720 5 0.000 | 0.230 | 2.630 | 2.860 376 405 781 3,905 BTl
No.5 Fit T 0.850 | 4.000 | 2.800 | 7.650 4.790 10.620 11 0.000 | 2.110 | 0.750 | 2.860 309 722 1,031 11,341 TR
No.14 ¥&ife T 0.000 | 1.980 | 2.700 | 4.680 1.820 10.620 11 0.000 | 1.980 | 0.880 | 2.860 314 703 1,017 11,187 TEREY
No.14 Fite =t 0.000 | 1.960 | 2.700 | 4.660 1.800 10.620 11 0.000 | 1.960 | 0.900 | 2.860 315 700 1,015 11,165 Vi
No.15 Fi# T 0.000 | 0.620 | 3.650 | 4.270 1.500 4.720 5 0.000 | 0.620 | 2.150 | 2.770 342 459 801 4,005 BTl

& &t 112 97,950




BIY-yy) KOTHL 92000 mm (RBIEA)  SEEE (1) i
1 1 1 1
i B Tl AT No. 1 No. 3 No. 5 No. 14 aE
T HIE UEAHRHIEHA T) m 9.813 9. 172 - 5. 163 24. 148
JEAGE ) 10.013 9.372 - 5. 363 24. 748
RYAZIRYS I 8. 863 8. 222 7.166 4.203 28. 454
SlkE I 0. 900 0. 900 - 0. 900 2. 700
AEPE 1 N=5 m 7.113 7.422 - 2.713 17. 248
5<<N =30 ) - - - _
WE 1 N =30 I 2.700 1. 750 - 2. 450 6. 900
TERBE 30< N =50 i - - - -
HE 1+ N =30 I - - - -
30< N =50 ” - - - -
it m 9.813 9.172 - 5.163 24. 148
EHIEITUE L
EREYIMI T |As  t=15cmPA T m 7.29 7.29 - 7.29 21.87
EEEUE T JAs  t=10cmPA T m2 4.01 4. 01 - 4. 01 12. 03
PRIy |As m3 0. 20 0. 20 - 0. 16 0. 56
A Ay m3 30. 04 24.97 - 13. 77 68. 78




P~y ) ATHT ¢ 2000 mm GGRENTEA) et (2)
i B Tl AT No. 1 No. 3 No. 5 No. 14 aE
JEEAE ) —h m’ 3.1 3.1 - 3.1 9.3
ATALLER YRRy U 1.2 1.2 - 1.2 3.6
MR T 79 rars7U—% m’ 17. 05 11. 20 13. 00 5.93 47.18
Az I 3.27 2.57 3.28 3.55 12. 67
G-y £ 3D
SeEEr-vv)T | $2000mm t=16 1 = 2.4 A 1 1 - - 4.8 2
- | $2000mm t=16 1 = 2.2 i 2 - - - 4.4 2
FR=v/) ] $2000mm t=16 1 = 2.0 i — 2 — — 4.0 2
f&r-vvr” | $2000mm t=16 1 = 2.3 i 1 - - - 2.3 1
&=yt | $2000mn t=16 1 = 2.1 i - 1 - - 2.1 1
%=1 | ¢ 2000mm 1 =20 I 1 1 - - 2
aEk N 5 5 - - 17.6
SegEr-vs)” | $2000mm t=12 1 = 2.4 PN - - - 1 2.4 1
&=y 1 ¢2000mm t=12 1 = 2.1 l - - - 1 2.1 1
&%=/ | ¢ 2000mm 1 =20 I - - - ] 1
Erat A - - - 3 4.5




B =y XSFHT ¢ 2000 mm  (BRENTEAN) HFEHE (3)

fiH | Al |${ﬁ| No. 1 | No. 3 | No. 5 | No. 14 | aEt
B b ES =GR 1 1 - 1 3
e e r | 3 - ! :
LT Y D IR m 6.3 6.3 - 6.3
=) WEE m 1. 437 1. 478 1. 434 1. 497 5. 846
=y B I 12. 00 12. 20 12. 00 12. 30 48. 50
A7y7° Hi t 1.217 1.272 1.194 0. 952 4. 635
BEET MR E R s2000mml | @ | 1 | | | 4
St IH T [RIEIH
[EE]
zEL AR EET A/ (13)  t=3cm | m2 - - - 3. 48 3. 48
R AR T R (M-30)  t=13cm [ v - - - 3.48 3. 48
[E]
FEL AR EET A1/ (13)  t=3cm | m2 3. 48 3. 48 3. 48 - 10. 44
EEE T RIS (M=30)  t=12cm [ » 3. 48 3. 48 3. 48 - 10. 44

TlEEME T | FAEMA (RC-30)  t=10cm N 3. 48 3. 48 3. 48 - 10. 44




THEELIMT - BRIR LT (Fa@)

I & | % % g
S ) FU®ZE = 2000 m
SHEAK=2nr - tan(180° /n) n %, r o FE
L= 2 x 8 x ( 2200 / 2 )x tan(180° / 8 ) = 7.290 7.29 m
(RETNE+0.200)

SRR EiE=n - r’-tan(180° /n) noc %, o H4E

A= 8 x (220 / 2)% x tan(180° / 8 ) = 4.010 4.01 m?

(FEU1%+0.200)

HE{REIR A= 4.010 —  0.820 2x /4 = 3.482 3.48 m®




% i BOE
No.
A A 29 Bl #% &
SEHURETE T (No. 1 SEHD) FEIEOME ¢ 2000 mm
t= 16 mm ENEE ¢ 2058 mm
SENE S 2090 mm
s URES JEASEAITA T) m 9.813
JE AR Il 10.013
NEHUR i 8.863
Flkk Il 0.900
+THEE HEE 4 (N=5) 3.570 +1.750 +0.930 +0.863 m 7.113
I (5<N =30) I -
WE 1+ (N=30) 1.700 +1.000 I 2.700
I (30<N=50) I -
g+ (N=30) I -
I (30<N=50) I -
&t m 9.813
LU T [ERL]
EPEOIMT T | t=5cm Opllag [0 I - U L T.(3as) | 1D) m 7.29
BEERUE T | t=5cm (33 [ s b - B L T.(3658) 1 10) m” 4.01
FESRAL Y As 401 X m’ 0.20
Ay 2.090 % X gx/4 X - 327 X 1.11 m’ 30.04




No.

4 i B e HAL) ¥ &
AR 7Y — M m® 3.1
AT A MRLER T kL & m® 1.2
M

SegEr— ) é 2000 mm t= 16 mm = 2.4 K 1

=y $ 2000 mm t= 16 mm = 2.2 U 2

A=) 6 2000 mm t= 16 mm = 2.3 I 1

R =y é 2000 mm = 2.0 I 1

& &t ZN 5
RIVNES L] L
A % A 3

1T Y VIR e R m 6.3
vy kR m LA3T
=GR E 12.000 X 7o 4+ 1.437 X4 m 12.0
A5 HE
(=D 1.437 X  0.818 t/m t 1.175
(EE) ( 0360 + 0.10 )* X /4 X 0.1256 t/m2X AT I 0.042
t 1.217
M7 T » 2000 mm/H 1A 1




o= B B &

il

%

3.48

A =X
(AEH) i
FAEBRLE 7 A2 (13) t=3cm (o] e BT - B L T.(3kiE) 1 KD)
kst (M=30) t=12cm

3.48

HAEMRA (RC-30) t=10cm

3.48




& i A EERERLEERE)
No.
4 R A = Hir | %% iy
(No. 1 ~iHD) FHAEFEOEE ¢ 2000 mm
t= 16 mm A NEE ¢ 2058 mm
HE M ¢ 2090 mm
HERLES = T m 7.088
— % 1.50 — 0.250 I 1.250
IR AL S iiE I 0.250
Sr— TR 703y —hk
AR Vi= 2.058 2X w/4X  7.088 = 23.58 m’
Pepr|l Vol= —1.10 "2X /4% 0.130 = -0.12 l JEERR
V22= -1.10 2X /4 X 1.800 = -1.71 I | k7 ey s (1)
V23= -1.10 2X 1t /4 X 1.500 = -1.43 | EEE(fE)
V24= -1.05 "2X 1 /4 X 3.658 = -3.17 no| EEE(T fE)
(7.088-0.130-1.800-1.500)
V25=  -0.36 2X 1t /4 X 0.479 X 2 = -0.10 n HEEE
m’ 17.05
— AR R L v
ARl Vi= o 2.090 2X /4% 1.250 = 4.29 m’
PeRgl V21= —1.05 "2X /4% 0.842 = -0.73 no| ERE(T FE)
(1.500-0.208-0.450)
v22=—( 1.05 "2+ 0.841 "2)X £ /4X 0.408/2 = -0.29 no| RkEE (T FR)
V23= 2X /4% = N FHEEYN/A
m’ 3.27




% = F B &
No.
A A 29 Bl #% &
SEHURETE T (No. 3 SEHD) FEIEOME ¢ 2000 mm
t= 16 mm ENEE ¢ 2058 mm
SENE S 2090 mm
s URES JEASEAITA T) m 9.172
JE AR U 9.372
AIRZS i 8.222
Flkk Il 0.900
+THEE HEE 4 (N=5) 3.830 +3.370 +0.222 m 7.422
I (5<N =30) I -
WE (N=30) 1.750 I 1.750
I (30<N=50) I -
g+ (N=30) I -
I (30<N=50) I -
&t m 9.172
LU T [ERL]
EPEOIMT T | t=5cm Opllag [0 I - U L T.(3as) | 1D) m 7.29
BEERUE T | t=5cm (33 [ s b - B L T.(3658) 1 10) m” 4.01
FESRAL Y As 4.01 X 0.05 m’ 0.20
Ay 2.090 ° X gx/4 X  9.172 - 585 X  1.11 m’ 24.97

(2.57(N0.3)+3.28(No.5))




No.

4 i B e HAL) ¥ &
R ) —h m® 3.1
AT A MRLER T kL & m® 1.2
M

SegEr— ) é 2000 mm t= 16 mm = 2.4 K 1

=y $ 2000 mm t= 16 mm = 2.0 U 2

&=y 6 2000 mm t= 16 mm = 2.1 I 1

(Raxr—vvr | ¢ 2000 mm = 2.0 y 1

& &t ZN 5

RV ES % A 1
A % A 3
1T Y VIR e R m 6.3
=y WEE m 1.478
=GR E 12.000 X 7o 4+ 1.478 X4 m 12.2

A5 HE

(=D 1.478 X  0.818 t/m t 1.209
(EE) ( 0360 + 0.10 )* X /4 X 0.1256 t/m2X AT I 0.063
t 1.272

M7 T » 2000 mm/H 1A 1




o= B B &

il

%

3.48

A =X
(AEH) i
FAEBRLE 7 A2 (13) t=3cm (o] e BT - B L T.(3kiE) 1 KD)
kst (M=30) t=12cm

3.48

HAEMRA (RC-30) t=10cm

3.48




& i A EERERLEERE)
No.
4 R B = AL %% iy
(No. 3 ~ihD) FHAEFEOEE ¢ 2000 mm
t= 16 mm A NEE ¢ 2058 mm
HE M ¢ 2090 mm
HERLES = T m 6.517
— % 1.50 — 0.250 I 1.250
IR AL S iiE I 0.250
Sr— TR 703y —hk
ARl Vi= 2,058 2X /4% 6.517 = 21.68 m’
Pepg|l Vol= —1.45 °2X /4% 0.150 = -0.25 l JEERR
V22=  —1.45 2X /4 X 1.500 = -2.48 I s ey 2 ()
V23=  -1.45 "2X 1 /4X 1.500 = -2.48 no | ERE (11 FE)
V24=  -1.40 "2X 1 /4 X 3.367 = -5.18 no| EEE(T fE)
(6.517-0.150-1.500-1.500)
V25=  -0.36 2X 1t /4 X 0.304 X 2 = -0.06 n HEEE
V26= -0.36 2X 1t /4% 0.329 X 1 = -0.03 n HEEE
m’ 11.20
— AR L i
ARl Vi= o 2.090 2X /4% 1.250 = 4.29 m’
PERR| V21= —1.40 "2X 1t /4 X 0.833 = -1.28 no| EEE(T fE)
(1.500-0.217-0.450)
v22=—(  1.40 "2+ 0.863 "2)X /4% 0.417/2 = -0.44 no| RkEE (T FR)
V23= 2X /4% = N FHEEYN/A
m’ 2.57




o & FH B #
No.
i B i HAL) ¥ &
SHLELE T (No. 5 7HD) BSOS ¢ 2000 mm
t= 16 mm FHENEE ¢ 2058 mm
SENE S 2090 mm
DAZRYS U 7.166
v S ER m 1434
=B EIRTE 12.000 X 7o 4+ 1.434 X4 m 12.0
A5 HE
(=D 1.434 X  0.818 t/m t 1.173
(EE) ( 0360 4+  0.10 )? X /4 X 01256 t/m2x 1 (&5 I 0.021
t 1.194
M7 T 6 2000 mm/H & 1
HEEEHT (RAE1H) e
g T PR 7 22 (13) t=3cm (B34 [ ahs bk - BugE L T(hE) 1 k0) | m® 3.48
ERAE T RigEREA (M=30) t=12cm m’ 3.48
TEEET  |HAEMNA (RC-30)  t=10cm m’ 3.48




& i A EERERLEERE)
No.
4 R A = Hir | %% iy
(No. 5 ~ihD) FHAEFEOEE ¢ 2000 mm
t= 16 mm B NS o 2058 mm
HE M ¢ 2090 mm
HERLES = T m 5.391
— % 1.50 — 0.250 I 1.250
IR AL S iiE I 0.250
Sr— TR 703y —hk
Akl Vi= 2,058 2X /44X 5.391 = 17.93 m’
Pepr|l Vol= —1.10 "2X /4% 0.130 = -0.12 l JEERR
V22= -1.10 2X /4 X 1.800 = -1.71 IR ey 2 (58)
V23= -1.05 2X n/4X  3.461 = -3.00 no| EEE(T FE)
(5.391-0.130-1.800)
V24=  -0.36 2X /4%  0.479 X 2 = -0.10 I HEMES
m’ 13.00
— AR R L i
ARl Vi= o 2.090 2X /4% 1.250 = 4.29 m’
PERR| V21= —1.05 "2X 1t /4 X 0.739 = -0.64 no| EEE(T fE)
(1.500-0.161-0.600)
v22=—( 1.05 "2+ 0.854 "2)X /4% 0.511/2 = -0.37 no| gebeE (T FE)
V23= 2X /4% = N FHEEYN/A
m’ 3.28




No.
A A 29 Bl #% &
SEHURETE T (No. 14 SiHD) FEIEOME ¢ 2000 mm
t= 12 mm ENEE ¢ 2066 mm
SENE S 2090 mm
s URES JEASEAITA T) m 5.163
JE AR U 5.363
AIRZS i 4.203
Flkk Il 0.900
+THEE HEE 4 (N=5) 2.660 +0.053 m 2.713
I (5<N =30) I -
WE 1+ (N=30) 2.450 I 2.450
I (30<N=50) I -
g+ (N=30) I -
I (30<N=50) I -
&t m 5.163
LU T JEE
SHEEYIRT T | t=4cm (3]s A B - g L T (3E3m) | J0) m 7.29
BEERUE T | t=4cm (33 [ s b - B L T.(3658) 1 10) m” 4.01
FESRAL Y As 401 X 0.04 m’ 0.16
Ay 2.090 > X x/4 X 5163 - 355 X 1.11 m’ 13.77




N & FH B #
No.

4 i B e HAL) ¥ &
AR 7Y — M m® 3.1
AT A MRLER T kL & m® 1.2
M

Segahr—u ) ¢ 2000 mm t= 12 mm = 2.4 m i 1

A=) 6 2000 mm t= 12 mm = 21 m I 1

R =) é 2000 mm = 20 m I 1

& &t ZN 3
RIVNES L] L
eiiar aey Hprl 1

1T Y VIR HEIE R m 6.3

-y kR m LA97

=GR E 12.000 X 7o 4+ 1.497 X4 m 12.3
A5 HE

(=D 1.497 X 0.615 t/m t 0.921

(EE) ( 0360 4+  0.10 )? X /4 X 0.0942 t/m2x 2 [EFF I 0.031

t 0.952

M7 T » 2000 mm/H 1A 1




o = 3 =
No.
A ] = E2A S
HHEEIE 0T AR H) s3]
#ET F/E gL 23 (13) t=3cm (BIl3A: [ &AL M - g L TOLiE) 1 10) | m” 3.48
FEEAET R (M-30) t=13cm m” 3.48




Wi

ke

oA ECRELHEFFE)
No.
4 R B 2 A s &
(No. 14 ~7hD) FHAEFEOEE ¢ 2000 mm
t= 12 mm BN o 2066 mm
HE M ¢ 2090 mm
HERLES = T m 2.428
— % 1.50 — 0.160 I 1.340
IR AL S E I 0.160
Sr— TR 7 ohar ) —kh
ARl Vi= o 2,066 2X 1w /4X  2.498 = 8.14 m’
PepR| V21=  —1.10 2X /4% 0.130 = -0.12 l JEERR
V22= -1.05 2X /4% 1.500 = -1.30 n | ik ey s (1)
V23=  -1.05 2X /4%  0.798 = -0.69 no| ERE(T FE)
(2.428-0.130-1.500)
V24=  -0.36 2X t/4X  0.508 X 2 = -0.10 I HEHER
m’ 5.93
— AR R L i 1
ARl Vi= o 2.090 2X /4% 1.340 = 4.60 m’
Pe|l V21= -1.05 2X 1 /4X  0.702 = -0.61 no| ERE(T FE)
(1.500-0.198-0.600)
Vo2=—( 1.05 "2+ 0.82 " 2)X x/4X 0.600/2 = -0.42 no| RkEE (T FR)
V23=  0.82 2X x/4X  0.038 = -0.02 I FRER)
(0.198-0.160)
m’ 3.55




=) SZHT ¢ 1500 mm  (FRENEA) et (1) T
1 1 1
il &l HAT No. 2 No. 4 No. 15 a8
PRI (JEASRHIFEA T) m 9. 322 8. 624 4.534 22. 480
EAVE I 9. 522 8. 824 4.734 23. 080
SEHLIE U 8. 372 7.674 3.574 19. 620
gl U 0. 900 0. 900 0. 900 2. 700
A+ N=5 m 5. 200 5. 550 3.610 14. 360
F<N=30 /U 0. 622 0. 450 - 1.072
WE 1+ N =30 / 2. 950 2. 084 0.924 5. 958
TEEE 30< N =50 I - - -
W+ N =30 U 0. 550 0. 540 - 1. 090
30<N =50 U - - -
it m 9.322 8. 624 4.534 22. 480
BRI L
SidETINT T [As  t=15emPA T m 5. 63 5. 63 5. 63 16. 89
SERUE T |As  t=10cmPA F m?2 2. 39 2.39 2. 39 7.17
FEBIALY  [As m3 0.12 0.12 0.10 0. 34
FEAE L5y m3 16. 96 15.53 7.30 39.79




=) SZHT ¢ 1500 mm  (FRENEA) etk (2)

f& H il {7 No. 2 No. 4 No. 15 &3
JEEAZaY ) -} m’ 1.8 1.8 1.8 5.4
ATAMLER | JEsKALS) & U 0.7 0.7 0.7 2.1

HRET 779 barszy—F U 6.91 6.23 2.09 15.23

yi ) 1. 40 1. 44 1.53 4.37
U=y Kih)
SeEEr-vv)T [ ¢ 1500mm t=12 1 = 2.4 ZN 1 1 1 7.2 3
=y ¢ 1500mm t=12 1 = 2.1 l 2 - - 4.2 2
- [¢1500mm t=12 1 = 1.8 U - 2 - 3.6 2
Bty |9 1500mm t=12 1 = 2.0 U 1 - - 2.0 1
&) ¢ 1500mm t=12 1 = 1.9 U - 1 - 1.9 1
Bker-vvr |9 1500mm t=12 1 = 1.4 U - - 1 1.4 1
EE%r-vs" | ¢ 1500mm 1=20 A 1 1 1 3
&t A 5 5 3 20.3




HSLr—vs) SLHL ¢ 1600 mm GREEA)  FEFEHER (3)

FiE | i | | $&| No. 2 | No. 4 | No. 15 | s
AL S & AT 1 1 1 3
BEES I 3 3 1 7

LEFTY IR EERE m 4.7 4.7 4.7
r=v ) WMEE m 1.428 1.426 1.426 4. 280
r=yy) I E i 10. 40 10. 40 10. 40 31.20
A)7y7° B t 0. 696 0. 696 0. 688 2. 080
BEET BB s1500mmfl | @ | 1 | ) 3

BIREIHT RIEIR

[FhE]

FIE T BAESRIET A2 (13)  t=3cm | m2 - - 1.87 1.87
R T PRI (M-30)  t=13cm [ - - 1.87 1. 87

(]

FKET FAEBRIET 22y (13)  t=3cm m2 1. 87 1. 87 - 3.74
LJE AR T RS IR (M-30)  t=12cm | # 1. 87 1.87 - 3.74
THEBET [FAERA (RC-30)  t=10cm J 1.87 1.87 - 3. 74




THEELIMT - BIR LT (Fa@)

I i =1 = £} =
S ) HFUZE = 1.500 m
SHEAK=2nr - tan(180° /n) n %, r o FE
L=2 x 8 x ( 1.700 / 2 )x tan(180° / 8 ) = 5.633 5.63 m
(RETNE+0.200)

S EIE EiE=n - r’-tan(180° /n) noc 0%, r o HE

A= 8 x (1700 / 2)2 x tan(180° / 8 ) = 2.394 2.39 m?

(FEU1%+0.200)

S RE A= 2394 —  0.820 2x /4 = 1.866 1.87 m®




H & F B O F
No.
4 W ) =X HAL | % &
NHUEE T (No. 2 ~ihD) BEPEOE ¢ 1500 mm
t=_ 12 mm BN ¢ 1566 mm
A ME ¢ 1590 mm
IS URES UEASEHIFEHA T) m 9.322
JEATR U 9.522
RYAJIRES 4 8.372
FlHkE ) 0.900
+HEEE R+ (N=5) 2.550 +0.600 +2.050 m 5.200
U (5<N =30) 0.250 +0.372 I 0.622
WHE + (N=30) 0.700 +1.200 +1.050 I 2.950
U (30<N=50) U -
HUE (N=30) 0.550 J 0.550
U (30<N=50) U -
it m 9.322
B I T 8
BN T. | t=5cm Cpll o 2 BT - BUE L TCH@) | KD) m 5.63
BREEBUE T |t=5cm (313 [ & g - gL T (3) 1 K0) m” 2.39
PRIy As 2.39 X 0.05 m’ 0.12
Ay 1.590 * X x/4 X 9322 - 140 X 1.11 m’ 16.96




B B O OB &
No.

4 g B X HAL| ¥ &
AR 7Y — b m’ 1.8
A4 MLFR ek B m’ 0.7
T ER R

SeERr—vv ) ¢ 1500 mm t= 12 mm = 2.4 7N 1

Hr—vr ¢ 1500 mm t= 12 mm = 2.1 Ui 2

=y ¢ 1500 mm t= 12 mm = 2.0 i 1

G r=vy ¢ 1500 mm = 2.0 I 1

& &t N 5
BILNES il L
B s & 3

1 PTG VIR R m 4.7
=y EERE m 1.428
=y rgE [ 1500 X & + 1.428 X4 m 10.4
AI5y T HE
() 1.428 X  0.466 t/m t 0.665
(% 12) ( 0360 4+  0.10 )% X /4 X 0.0942 t/m2X =G I 0.031
t 0.696
MEE Tk 6 1500 mm/H & 1




TEREET

A (RC-30) t=10cm

¥ = i " O F
No.
< 5 N B g
%ETE 1B T (545 1H) ifi i
FET FABRIET 22(13) t=3cm (B34 TR b - gL TOk) 110) | m” 1.87
PEEET kA (M-30) t=12cm m” 1.87
m” 1.87




¥oE A ECEL LEHR)
No.
4 g B e WAL &
(No. 2 S7HD) HE IO ¢ 1500 mm
t= 12 mm A NEE ¢ 1566 mm
ENEE ¢ 1590 mm
HRELES r—3 T ER m 6.817
— % 1.500 — 0.250 I 1.250
I ETEE Callags [ &2 BT B L T.(368E) 1 &0) I 0.250
r—3 TRV R L 7o ka7l —hk
NS 1.566 2X 7 /4X  6.817 = 13.13 m®
Pl vol= 110 29X /4% 0.13 = -0.12 I AR
V22=  -1.10 "2X 1 /4 X 1.500 = -1.43 I | a2 ()
V22=  -1.10 2X n /4 X 1.500 = -1.43 no | ERE (I FE)
V23=  -1.05 2X /4% 3.687 = -3.19 no| ERECT FE)
(6.817-0.130-1.500-1.500)
V24= —0.36 2X 1 /4 X 0.233 X 2 = -0.05 I HEHEAE
m® 6.91
—EBHERL Vi 1
ENE 1.566 2X 7 /4X  1.250 = 2.41 m®
el v21=  -1.05 2X /4% 0.813 = -0.70 no| ERECT FE)
(1.500-0.237-0.450)
v22=—(  1.05 "2+ 0.83 " 2)X w/4X 0.437/2 = -0.31 I FRURE (1 )
V23= X 1 /4X = 0.00 I LN
m® 1.40




H & B H &
No.
4 W ) =X HAL | % &
SEULELE T (No. 4 ~rHi) FE O ¢ 1500 mm
t=_ 12 mm BN ¢ 1566 mm
A ME ¢ 1590 mm
IS URES UEASEHIFEHA T) m 8.624
JEATR U 8.824
RYAJIRES 4 7.674
FlHkE ) 0.900
TEEE R+ (N=5) 2.700 +2.850 m 5.550
U (5<N =30) 0.450 I 0.450
WHE + (N=30) 1.550 +0.350 +0.184 I 2.084
U (30<N=50) U -
HUE (N=30) 0.540 J 0.540
U (30<N=50) U -
aEt m 8.624
B I T 8
LI T. | t=5cm Call o 2 BT - BUE L T.CH@) | KD) m 5.63
HREBUE T | t=5cm (313 [ & g - g L T (3t) 1 KY) m” 2.39
PRIy As 2.39 X 0.05 m’ 0.12
Ay 1.590 * X x/4 X 8624 - 144 X 1.11 m’ 15.53




B B O OB &
No.

4 g B X HAL| ¥ &
AR 7Y — b m’ 1.8
A4 MLFR ek B m’ 0.7
T ER R

SeERr—vv ) ¢ 1500 mm t= 12 mm = 2.4 7N 1

Hr—vr ¢ 1500 mm t= 12 mm = 1.8 Ui 2

=y ¢ 1500 mm t= 12 mm = 1.9 i 1

G r=vy ¢ 1500 mm = 2.0 I 1

& &t N 5
BILNES il L
B s & 3

1 PTG VIR R m 4.7
=y EERE m 1.426
=y rgE [ 1500 X & + 1.426 X4 m 10.4
AI5y T HE
() 1.426 X 0.466 t/m t 0.665
(% 12) ( 0360 4+  0.10 )% X /4 X 0.0942 t/m2X =G I 0.031
t 0.696
MEE Tk 6 1500 mm/H & 1




TEREET

A (RC-30) t=10cm

¥ = i " O F
No.
< 5 N B g
%ETE 1B T (545 1H) ifi i
FET FABRIET 22(13) t=3cm (B34 TR b - gL TOk) 110) | m” 1.87
PEEET kA (M-30) t=12cm m” 1.87
m” 1.87




¥oE A ECEEL LEHRE)
No.
4 g B e WAL &
(No. 4 S7HD) HE IO ¢ 1500 mm
t= 12 mm A NEE ¢ 1566 mm
ENEE ¢ 1590 mm
HRELES r—3 T ER m 6.119
— % 1.500 — 0.250 I 1.250
I ETEE Callags [ &2 BT B L T.(368E) 1 &0) I 0.250
r—3 TRV R L 7o ka7l —hk
NS 1.566 2X 7 /4X  6.119 = 11.79 m®
Pl vol= 110 29X /4% 0.13 = -0.12 I AR
V22= -1.10 2X /4%  2.400 = -2.28 I | a2 ()
V23=  -1.05 2X /4% 3.589 = -3.11 no| ERECT FE)
(6.119-0.130-2.400)
V24= —0.36 2X 1 /4 X 0.233 X 2 = -0.05 I HEHEE
m® 6.23
—EBHE R L Vi 1
ENE 1.566 "2X 7 /4X  1.250 = 2.41 m®
el v21=  -1.05 2X /4% 0.611 = -0.53 no| ERECT FE)
(1.500-0.289-0.600)
v22=—( 1.05 "2+ 0.82 "2)X /4% 0.600/2 = -0.42 no| ALBE (T FE)
V23=  0.82 2X m/4X  0.039 = -0.02 I EEE N
(0.289-0.250)
m® 1.44




No.
4 W ) =X HAL | % &
NSNS T (No. 15 ~ihi) BEPEOE ¢ 1500 mm
t=_ 12 mm BN ¢ 1566 mm
A ME ¢ 1590 mm
IS URES UEASEHIFEHA T) m 4.534
JEATR U 4.734
RYAJIRES 4 3.574
FlHkE ) 0.900
+HEEE i (N=5) 3.610 m 3.610
n (5<N=30) I -
WHE + (N=30) 0.924 I 0.924
U (30<N=50) U -
g 1 (N=30) n -
U (30<N=50) U -
aEt m 4.534
AL T B
BN T | t=4cm (ol 2 BT - BUE L T.CH@) | KD) m 5.63
BREEBUE T | t=4em (313 [ & g - g L T (3t) 1 KY) m” 2.39
PRIy As 2.39 X 0.04 m’ 0.10
Ay 1.590 * X x/4 X 4534 - 153 X 1.11 m’ 7.30




. &
No.

4 g B HAL| ¥ &
AR 7Y — b m’ 1.8
ATA WRLFR ek B m’ 0.7
T ER R

SeERr—vv ) ¢ 1500 mm t= 12 mm 24 m 7N 1

=y ¢ 1500 mm t= 12 mm 1.4 m i 1

G r=vy ¢ 1500 mm 20 m i 1

& &t N 3
RIVNEDS (E 1
B s & 1

1 PTG VIR R m 4.7
=y EERE m 1.426
=y rE [ 1500 X & + 1.426 X4 m 10.4
AI5y T HE
() 1.426 X 0.466 t/m t 0.665
(& IE) (0360 4+ 0.10 )* X /4 X 0.0942 t/m2x 1  f& I 0.016
(& IE) ( 0206 + 0.10 )* X /4 X 0.0942 t/m2x 1 {5 I 0.007
t 0.688
MEE Tk 6 1500 mm/H & 1




H & B B &
No.
4k i} 9 A
BHAE1E IR T (FIE1H) JEiE
FET FABRIET 22(13) t=3cm (B TR b - gL TOk) 110) | m” 1.87
PEEET kA (M-30) t=13cm m” 1.87




¥ oE A ECEREL LEHR)
No.
4 g B e WAL &
(No. 15 37HD) HHE IEOME ¢ 1500 mm
t= 12 mm A NEE ¢ 1566 mm
ENEE ¢ 1590 mm
HRELES r—3 T ER m 2.019
— % 1.500 — 0.160 I 1.340
I ETEE Callags [ &2 BT B L T.(368E) 1 &0) I 0.160
r—3 TRV R L 7o ka7l —hk
NS 1.566 2X 7 /4X  2.019 = 3.89 m®
Pl vol= 110 29X /4% 0.13 = -0.12 I AR
V22=  -1.05 2X 7 /4 X 1.500 = -1.30 N AT Ey s (1 )
V23=  -1.05 2X /4% 0.389 = -0.34 no| ERECT FE)
(2.019-0.130-1.500)
V24= —0.360 2X 5 /4 X 0.258 X 1 = -0.03 I HEHEE
V24= -0.206 2X 1 /4X  0.258 X 1 = -0.01 I Ealilk=g
m® 2.09
—EBHERL Vi 1
ENE 1.566 "2X 7 /4X  1.340 = 2.58 m®
el v21=  -1.05 2X /4% 0.811 = -0.70 no| ERECT FE)
(1.500-0.239-0.450)
v22=—(  1.05 "2+ 0.82 " 2)X w/4X 0.450/2 = -0.31 I FRURE (1 )
V23=  0.82 2X m/4X  0.079 = -0.04 I EEE N
(0.239-0.160)
m® 1.53




KEBRARABEAFE _
T & Wit wEEX |[YIILk X H #® F [ArL—F— iE =
SLHTNO. E15i m m m m X le]mI
M8. 1 2.700 71.700 10. 400 2 2
2 0. 600 2. 950 6. 550 10. 100 2 2
3 1. 750 8. 050 9.800 2 2
4 0.590 2.220 6. 590 9.400 2 2
5 BERADES. AEAREOS
14 2. 450 3. 250 5. 700 1 2
15 1. 300 4.000 5. 300 1 2
8 & 1.190 13. 370 36. 140 50. 700 10. 000 12. 000
=2 EE HEI0 KEHUAFHE xIs



XK OB #€ A #H £ B H B R

A HhiEs 86.110 A MBS 86. 210
B EI Ming 76. 750 IHIN o M8. 1 B EI Ming 77.138| TN o: 2
C B—1.00m 75. 750 C B—1.00m 76. 138
A—C 10. 360 A—C 10.072
% o 10. 400 & FABr No. % o 10. 100 & FABr No.
& =05 GL 85. 960 0. 150 8 & -5 GL 86.210 0. 000 10
+ = TEE 2 i T = TEE 2 i
3TIILF-FEIC] 3. 600 3. 600 T WEL[G] 0. 600 0. 600
2 WBL[S] 1.700 5.300 3UINF-FEEIC] 2. 550 3. 150
3UINF-FEEIC] 1.750 7.050 2 WBL[S] 0. 700 3. 850
2WBL[S] 1.000 8. 050 3UINF-FEEIC] 0. 600 4. 450
3UINF-FEIC] 2. 500 10. 550 0.150| | 2 ®WEL[S] 1.200 5. 650
3UINF-FEIC] 2. 050 7.700
2 WBL[S] 1.050 8. 750
3UINF-FEEIC] 1.400 10. 150 0. 050
HEL[G] 0. 000 HEL[G] 0. 600
WEZL[S] 2.700 WEZL[S] 2. 950
I F-$EE[C] 7.700 I F-$EE[C] 6.550
Bt 10. 400 & 10. 100

TESER #HEI0 KEBAFAFHE xIs



XK OB £ OB #H O£ B H T O X
A HhiEs 86. 200 A MBS 86. 230
B EI Ming 77.498] si#iNo: 3 B EI Ming 77.856| N o: 4
C B—1.00m 76. 498 C B—1.00m 76. 856
A—C 9.702 A—C 9. 374
% o 9. 800 & FABr No. % o 9. 400 & FaBr No
& =05 GL 86. 220 0. 020 2 & -5 GL 86. 290 0. 060 3
+ = TEE 2 i T = TEE 2 i
3TIILF-FEIC] 3. 900 3. 880 T WEL[G] 0. 650 0. 590
2 WBL[S] 1.750 5. 630 3UINF-FEEIC] 3.290 3. 880
3UINF-FEEIC] 4. 700 10. 330 0.530| | 2 WEL[S] 1.550 5. 430
3UINF-HEIC] 0. 450 5. 880
2 WBL[S] 0. 350 6. 230
3UINF-HEIC] 2850 9.080
2 WBL[S] 1.450 10. 530 1.130
HEL[G] 0. 000 HEL[G] 0.590
WEL[S] 1. 750 WEL[S] 2.220
SILF-$EE[C] 8. 050 SILF-$EE[C] 6.590
Bt 9.800 & 9. 400

TESER

#HEI0 KEBAFAFHE xIs



K OB # B H x B 4o #FH O OX
A HhiEs 86. 200 A MBS 85. 970
B EITinm 78.554] 3N o: 5 B EITinm 81.287| MHiNo: 14
C B—1.00m 77. 554 C B—1.00m 80. 287
A—C 8. 646 A—C 5. 683
® o 8. 700 & FBr No. Gra)) 5. 700 & FABr No.
F =5 6L 85. 940 0. 260 4 F =05 6L 85.970 0. 000 15
+ = TEE 2 i T = TEE 2 i
0. 000 3TIILF-FLEC] 2. 700 2. 700
2 WEL[S] 2. 450 5. 150
3UINF-FEEIC] 1.700 6. 850 1.150
HEL[G] 0. 000 HEL[G] 0. 000
WEL[S] 0. 000 WEL[S] 2. 450
I F-EEEIC] 0. 000 I F-EEEIC] 3.250
H 0. 000 E 5.700

TESER

#HEI0 KEBAFAFHE xIs



K OB # B H x B 4o #FH O OX
A HhiEs 85. 750 A MBS
B EITinm 81.476| M iNo: 15 B EITinm IHNo:
C B—1.00m 80. 476 C B—1.00m ~1.000
A—C 5 274 A—C 1.000
® o 5. 300 & FBr No. Gral)) 1.000 & FABr No.
F =5 6L 85. 750 0. 000 16 F =05 6L 0. 000
+ = TEE 2 i T = TEE 2 i
3TIILF-FEIC] 3. 650 3. 650 0. 000
2 WEL[S] 1.300 4. 950
3UINF-FEEIC] 3.550 8. 500 3. 200
HEL[G] 0. 000 HEL[G] 0. 000
WEL[S] 1.300 WEL[S] 0. 000
I F-EEEIC] 4.000 I F-EEEIC] 0. 000
H 5. 300 E 0. 000

TESER

#HEI0 KEBAFAFHE xIs




